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2010 HSC - Industrial Technology (Timber)
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Questions |1-16 refer to the diagram of an entertainment unit below. The unit is to be
manufactured as a ‘flat pack’.

Question 11 (1 mark)
Sketch a knockdown fitting that could be used. 1
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Question 12 (2 marks)

What are thuﬁivuntuges of producing the entertainment unit as a ‘flat pack’? 2
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Question 13 (2 marks)

The details of a glass door frame from the entertainment unit are shown. 2

Name and describe, with the aid of sketches, a suitable framing joint that could be

used in the area marked at A in the door frame., : g
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Question 14 (3 marks)

Describe the safety precautions that need to be considered when constructing and 3
finishing cabinet furniture made from manufactured boards.
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Question 15 (3 marks)

What are the advantages and disadvantages of using solid timber as opposed to 3

ma ufar:‘,lu d board for the top of the entertainment unit?
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Question 16 (4 marks)
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